Figure E1-E3. Impact of one-year change in disease-specific health status on mortality,

hospitalization and exacerbation, stratified for age (Figure E1), number of exacerbations during

year 1 (Figure E2) and number of hospitalizations during year 1 (Figure E3).

Event-free probability

Event-free probability

Event-free probability

Event-free probability

Whole group Baseline age < 64 years Baseline age > 64 years
100-
£
3
S
e
o
®
z
>
2
a
8 8 P §
365 730 1060 385 730 1060 65 730 1060
time (days) time (days) time (days)
100
= 80
2
=
T &0
]
£
£ 4w 404
3
£ 204 20
365 730 1060 265 730 1080 35 730 1060
tine [days) time (days) time (days)
100 -
T ™ o "
2
5™ 1
3
3 4o 0]
(]
2 e
£ 20 204
o T 1 0 T 1 o T 1
%5 730 1060 365 730 1060 365 730 1060
time (days) time (days) time (days)
Figure E1.
Whole group 0-1 exacerbations during year 1 > 2 exacerbations during year 1
100+
z
2
3 %
[
o -~
B 904 204
[
3
a
366 70 1060 85 7% 1060 385 70 1060
time (dayz) time (days) time (days)
100+
T
o
8
]
8
b
=
o
8
£
366 730 1060 365 70 1060 366 730 1060
time (days) time (days) time (days)
1
T
o
s
]
2
]
g
g
L
385 70 1080 365 70 1060 366 730 1060
time (days) time (days) time (days)

Figure E2.

— improvement
—=- nochange

- deterioration



Event-free probability

Event-free probability

Figure E4. Impact of one-year change in disease-specific health status as assessed with the SGRQ
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symptom, activity and impact domain on mortality, hospitalization and exacerbation.
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